
1 
 

Class: 4 

Subject : Mathematics 

Prepared by : Israt sultana 

Date:14/7/2020 

Lecture:4 

Solution 
Note 1     Do addition.  

 Solution:  

(1) Solution:    
3

1

4

1
                                             (3) Solution:  

9

2

6

1
  

                   
12

4

12

3
                                                           

18

4

18

3
  

                   
12

7
                                                                    

18

7
  

         Ans:
12

7
                                                                       Ans:

18

7
 

(2) Solution:  
5

2

4

1
                                               (4) Solution: 

6

5

8

1
  

                           
20

4

20

5
                                                                

24

20

24

3
  

                           
20

9
                                                                         

24

23
  

                      Ans:
20

9
                                                                    Ans: 

24

23

 
Note 2     Do subtraction.  

 Solution:  

(1) Solution: 
3

1

2

1
                                                     (4) Solution: 

4

1

8

3
  

               
6

2

6

3
                                                                       

8

2

8

6
  

               
6

1
                                                                              

2

1

8

4




  

           Ans:
6

1
                                                                             

2

1
  

                                                                                                Ans:
2

1
 



2 
 

(2) Solution: 
5

1

4

1
                                                                (5) Solution: 

8

3

6

5
  

              
20

4

20

5
                                                                              

24

9

24

20
  

              
20

1
                                                                                       

24

11
  

     Ans: 
20

1
                                                                                     Ans:

24

11
 

(3) Solution: 
5

2

3

2
                                                              (6) Solution: 

15

4

10

7
  

             
15

4

15

10
                                                                              

30

8

30

21
  

             
5

2

51

6




                                                                                  

30

13
  

             
5

2
                                                                                      Ans:

30

13
 

    Ans:
5

2

 
 

Note 3     Do addition and subtraction. 

Solution: 

(1) Solution: 
20

3

4

1
                                                           (4) Solution: 

12

1

15

4
   

            
20

3

20

5
                                                                             

60

5

60

16
  

            
501

4

02

8
2








                                                                            

20

7

06

12




  

           
5

2
                                                                                        

20

7
  

     Ans: 
5

2
                                                                                  Ans: 

20

7
 

(2) Solution: 
12

7

4

1
                                                             (5) Solution: 

10

3

15

8
  

             
12

7

12

3
                                                                             

30

9

30

16
  
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6

5

21

01




                                                                                     

6

5

03

52




  

    
6

5
                                                                                           

6

5
    

                   Ans: 
6

5
                                                                                     Ans:

6

5
 

(3) Solution: 
24

1

8

3
                                                       (6) Solution: 

7

2

14

11
  

  
24

1

24

9
                                                                        

14

4

14

11
  

                   
12

5

42

01




                                                                           

2

1

41

7




  

                   
12

5
                                                                                

2

1
  

                 Ans:
12

5
                                                                          Ans:

2

1
 

(7)  Solution: 
6

1

2

1
                                                           (8) Solution: 

18

7

6

5
  

                     
6

1

6

3
                                                                                  

18

7

18

15
  

                    
3

1

6

2




                                                                                      

9

4

81

8




                                                                            

                 
3

1
                                                                                          

9

4
  

           Ans:
3

1
                                                                                       Ans:

9

4
 

(9) Solution: 
15

4

12

11
                                                          (10) Solution: 

20

9

15

13
  

                     
60

16

60

55
                                                                          

60

27

60

52
  

                     
20

13

06

93




                                                                              

12

5

06

52




  
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20

13
                                                                                 =

12

5
              

                   Ans: 
20

13
                                                                           Ans:

12

5
 

 

Note 4    Do addition and subtraction. 

 

Solution: 

 

(1) Solution: 
4

1

3

1

6

1
                                               (2) Solution: 

4

1

2

1
1   

          =
12

3

12

4

12

2
                                                                  

4

1

4

2

4

4
  

                           =
4

3

21

9




                                                                               

4

1
  

                          
4

3
                                                                                   Ans: 

4

1
 

                    Ans: 
4

3
 

Exercise (2) 

2.  Do addition. 

Solution:  

 

(1) Solution: 
2

1

4

1
                                                         (3) Solution: 

8

3

6

1
                                                          

                                 
4

2

4

1
                                                                          

24

9

24

4
  

                                 
4

3
                                                                                

24

13
  

                          Ans:
4

3
                                                                              Ans:

24

13
 

(2) Solution: 
7

3

5

2
                                                        (5) Solution: 

12

5

9

2
  
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     =
35

9

35

14
                                                                                  

36

15

36

8
  

     
35

23
                                                                                         

36

23
    

Ans: 
35

23
                                                                                  Ans:

36

23
 

 

(4) Solution: 
3

1

7

3
                                                              (7) Solution: 

15

2

3

2
      

            = 
21

7

21

9
                                                                               =

15

2

15

10
  

           =
21

16
                                                                                        =

5

4

51

21




 

                        Ans:
21

16
                                                                                      

5

4
  

                                                                                                                     Ans:
5

4
 

 

(6) Solution: 
10

1

6

5
                                                    (8) Solution: 

15

2

6

1
      

                  = 
30

7

30

25
                                                                          =

30

4

30

3
  

                  =
15

16

03

23




                                                                               =

30

7
 

                  
15

16
                                                                               Ans:

30

7
    

              Ans:
15

16
                  

(9) Solution: 
5

2

15

4
                                                        (10) Solution: 

12

7

6

1
        

                  =
15

6

15

4
                                                                             =

12

7

12

2
           
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                =
3

2

51

01




                                                                                 =

4

3

21

9




 

                =
3

2
                                                                                        =

4

3
 

         Ans:
3

2
                                                                                      Ans: 

4

3
   

3.  Do subtraction. 

Solution:  

(1) Solution: 
4

1

3

1
                                                                    (4) Solution: 

6

1

9

4
  

                =
12

3

12

4
                                                                                 = 

18

3

18

8
  

               =
12

1
                                                                                        =

18

5
                                                                                

       Ans:
12

1
                                                                                       Ans:

18

5
                                                                            

 

(2) Solution: 
5

2

6

5
                                                                  (5) Solution: 

9

7

12

11
  

              =
30

12

30

25
                                                                                  =

36

28

36

33
  

             =
30

13
                                                                                         =

36

5
 

   Ans:
30

13
                                                                                      Ans:

36

5
 

 

(3) Solution: 
6

1

3

1
                                                                 (6) Solution: 

5

2

10

9
  

             =
6

1

6

2
                                                                                     =

10

4

10

9
  

            =
6

1
                                                                                           =

2

1

01

5




 

      Ans:
6

1
                                                                                          =

2

1
 

                                                                                                        Ans: 
2

1
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(7) Solution: 
4

1

12

7
                                                         (8) Solution: 

6

1

15

4
  

                  =
12

3

12

7
                                                                             =

30

5

30

8
  

                  =
3

1

21

4




                                                                                =

10

1

03

3




 

                 =
3

1
                                                                                      =

10

1
 

           Ans:
3

1
                                                                                Ans:

10

1
 

(9) Solution:  
15

7

3

2
                                                     (10) Solution: 

6

5

10

9
  

                     
15

7

15

10
                                                                        

30

25

30

27
  

                     =
5

1

51

3




                                                                            =

15

1

03

2




 

                   =
5

1
                                                                                   =

15

1
 

             Ans:
5

1
                                                                             Ans: 

15

1
 

 

4. Do calculation. 

Solution: 

 

(1) Solution:  
12

1

4

1

3

1
                                               (3) Solution:  

9

1

3

1

2

1
       

36

3

36

9

36

12
                                                                             

18

2

18

6

18

9
   

3

26

981

21

63

42








                                                                                  

18

1
           

3

2
                                                                                                Ans:  

18

1
 

Ans:
3

2
 

 

(2) Solution:  
9

2

3

1

6

1
                                               (4) Solution:  

2

1

5

3

4

3
      
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18

4

18

6

18

3
                                                                           

20

10

20

12

20

15
        

18

13
                                                                                            

20

13
  

Ans:
18

13
                                                                                     Ans:

20

13
 

 

5. Do calculation. 

Solution:  

 

(1)  Solution: 
15

13

5

1

3
                                  (3) Solution: 

42

23

76

5
  

                   
5

1

15

13

3
, or                                                     

742

23

6

5
, or  

                  
15

3

15

13

3
, or                                                      

42

23

6

5

7
, or  

                 
3

2

51

01

3
,




or                                                            

42

23

42

35

7
, or  

                 
3

2

3
, or                                                                  

712

26

24

21

7
,








or  

                 323, or                                                         
7

2

7
, or  

                 
3

32
,




or                                                       727, or  

                 2, or                                                              
1

1

7

72
,




or  

            Ans: 2                                                                           2, or  

                                                                                                   Ans:2 

(2) Solution: : 
35

32

57

5
                                   

                   
7

5

35

32

5
, or                                                      

                  
35

25

35

32

5
, or                                                       

                 
5

1

53

7

5
,




or                 



9 
 

           
5

1

5
, or     

           

1,

5

51
,

515,

1

1










or

or

or

                                       

Ans: 1 


